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759455 = 5 x 193 x 787 x 1

oooo
2P + 1 = 5(204204n + 151891)

oboobobooosUOb0obUobOUobobo0obUobDOobODUoObUOobUObDOobDOobObOOobOobDOobDOoo
goo

Q=3797330000
P = 5105100 + 379733

2P + 1 =2(510510n + 379733) + 1 = 10210201 + 759466 + 1 = 10210201 + 759467

0000010210200 20 2003,5,7,11,13,17000000 1000000

759467 = 759467 x 1

280



0000 102102000000000000000

2P 4+ 1 = 510510m + 248957

gbobooobogobooboboobboobboooboooboon

Q=1379739 0000
P = 510510n + 379739

2P + 1 = 2(510510n + 379739) 4+ 1 = 10210201 4 759478 + 1 = 10210201 + 759479
0000010210200 20 2003,5,7,11,13,17000000 10000000

759479 = 7 x 108497 x 1

oooo
2P + 1 = 7(145860n + 108497)

goooooogvoUoooOoooOooOOoU0OOoU0bDOoU0UDOOoUoDbDOoUbOOUODbDOobDbOUODoOO
oono

Q=13797410000
P = 510510n + 379741

2P + 1 = 2(510510n + 379741) 4+ 1 = 10210201 + 759482 + 1 = 10210201 + 759483
0000010210200 20 2003,5,7,11,13,17000000 10000000

759483 =3 x 3 x 3 x23x 1223 x 1

ogooo
2P + 1 = 3(340340n + 253161)

g0obOobooo30boboooooobobooDooboobooDoboDobooobOobOoobDOoo
goo

Q=379747 0000
P = 5105100 + 379747

2P + 1 =2(510510n 4 379747) + 1 = 1021020n + 759494 + 1 = 1021020n + 759495

0000010210200 20 2003,5,7,11,13,17000000 10000000

759495 = 3 x 5 x 11 x 4603 x 1

oooo
2P + 1 = 165(6188n + 4603)

gooooobogoles0oboObbOO0O0ODOOO0ODOO0ODOUODbOObDOOOOOUODOUODOO
good

281



Q=3797510000
P = 510510n + 379751

2P + 1 = 2(510510n + 379751) 4+ 1 = 10210201 4 759502 + 1 = 10210201 + 759503
0000010210200 20 2003,5,7,11,13,17000000 1000000

759503 = 759503 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 248993

gbobooobogobooboboobboobooobuoooboon

Q=3797590000
P = 510510n + 379759

2P + 1 =2(510510n + 379759) + 1 = 1021020n + 759518 + 1 = 1021020n + 759519

0000010210200 20 2003,5,7,11,13,17000000 10000000

759519 = 3 x 3 x 84391 x 1

oooo
2P + 1 = 3(340340n + 253173)

gooooooboo3sooooooooobooooOobooboobOoobbOODbDoOobboUODboO
goo

Q=379777 0000
P = 5105100 + 379777

2P + 1 =2(510510n + 379777) + 1 = 1021020n + 759554 + 1 = 10210201 + 759555

0000010210200 20 2003,5,7,11,13,17000000 10000000

759555 =3 x 3 x 5 X 16879 x 1

oooOo
2P + 1 = 15(68068n + 50637)

ooboooooolibooooboooooboboooboooboobooboboooobOoobOoo
good

Q=379781 0000
P = 510510n + 379781

2P 4+ 1 =2(510510n + 379781) + 1 = 10210201 + 759562 + 1 = 10210201 + 759563

282



0000010210200 20 2003,5,7,11,13,17000000 10000000

759563 =7 x 19 x 5711 x 1

oooo
2P + 1 = 7(145860n + 108509)

goooooogvyooooO0oOOoO0oOOo0OoOo0DOOU0DODOoO0ODOOoO0ODOOUODOOoODOOUODOOOd
goo

Q=3797830000
P = 510510n + 379783

2P + 1 = 2(510510n + 379783) + 1 = 10210201 + 759566 + 1 = 10210201 + 759567
0000010210200 20 2003,5,7,11,13,17000000 10000000

759567 = 3 x 47 x 5387 x 1

oooo
2P + 1 = 3(340340n + 253189)

gooooooo3sooooooooobooooo0bOo0obOoobDOoOobDOoUDOoOobDboUODboO
goo

Q=379787 0000
P = 5105100 + 379787

2P 4+ 1 =2(510510n + 379787) + 1 = 1021020n + 759574 + 1 = 10210201 + 759575
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

759575 =5 x5 x 23 x 1321 x 1

oooo
2P + 1 = 5(204204n + 151915)

ooobobooos0b0b0ObOOoO0b0o0Ob0ObDOobOUOObO0ObUObDOobDOobObOObOobDOobDOC
goo

Q=379789 0000
P = 510510n + 379789

2P 4+ 1 =2(510510n + 379789) + 1 = 1021020n + 759578 + 1 = 1021020n + 759579

0000010210200 20 2003,5,7,11,13,17000000 10000000

759579 = 3 x 67 x 3779 x 1

oooo
2P + 1 = 3(340340n + 253193)

283



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=3797930000
P = 5105100 + 379793

2P + 1 = 2(510510n + 379793) + 1 = 10210201 4 759586 + 1 = 10210201 + 759587
0000010210200 20 2003,5,7,11,13,17000000 1000000

759587 = 127 x 5981 x 1

o000 10210200 0000000000000

2P +1 = 510510m + 249077

gbooboobooobooboboobboobboooboooboon

Q=23798010000
P = 510510n + 379801

2P 4+ 1 =2(510510n + 379801) + 1 = 1021020n + 759602 + 1 = 10210201 + 759603

0000010210200 20 2003,5,7,11,13,17000000 10000000

759603 = 3 x 13 x 19477 x 1

good
2P + 1 = 39(26180n + 19477)

gooooooboOo3ooooooob0oboooUoboUooobDOobDUooDUOobDOobobooOooo
goodg

Q=379807 0000
P = 510510n + 379807

2P 4+ 1 =2(510510n + 379807) + 1 = 1021020n + 759614 + 1 = 10210201 + 759615

0000010210200 20 2003,5,7,11,13,17000000 10000000

759615 = 3 x 5 x 89 x 569 x 1

oooo
2P + 1 = 15(68068n + 50641)

O0000O0o0oo1booobooobO0oooOoooOoOo0oo0obO0o0obOO0o0obOobDoOooDbOOooODbOoo
good

Q=23798110000
P = 510510n + 379811

2P 4+ 1 =2(510510n + 379811) + 1 = 1021020n + 759622 + 1 = 10210201 + 759623

284



0000010210200 20 2003,5,7,11,13,17000000 1000000

759623 = 759623 x 1

oooo 10210200 000000000000

2P +1 =510510m + 249113

gboobgobogobooboboobboobbooobooooboon

Q=23798170000
P = 5105100 + 379817

2P + 1 = 2(510510n + 379817) + 1 = 10210201 + 759634 + 1 = 10210201 + 759635
0000010210200 20 2003,5,7,11,13,17000000 10000000

759635 = 5 x 139 x 1093 x 1

oooo
2P + 1 = 5(204204n + 151927)

gboobobooosOoboboboobobooboboboobobOobUobDOobDOob0bOoOobOobDOobDOoo
goo

Q=3798230000
P = 510510n + 379823

2P + 1 = 2(510510n + 379823) + 1 = 10210201 4 759646 + 1 = 10210201 + 759647
0000010210200 20 2003,5,7,11,13,17000000 10000000

759647 =7 x 7 x 37 x 419 x 1

oooo
2P + 1 = 7(145860n + 108521)

oooooooovoooooobobooooooobooooooobooOobObDOoOoooobObOBbOoOn
ooo

Q=3798200000
P = 5105100 + 379829

2P 4+ 1 =2(510510n + 379829) + 1 = 1021020n + 759658 + 1 = 10210201 + 759659

0000010210200 20 2003,5,7,11,13,17000000 1000000

759659 = 759659 x 1

o000 10210200 000000000000

2P 4+ 1 =510510m + 249149

285



gboboobogobogoboboobboobooobooooboon

Q=3798370000
P = 510510n + 379837

2P + 1 =2(510510n 4 379837) + 1 = 1021020n + 759674 + 1 = 1021020n + 759675

0000010210200 20 2003,5,7,11,13,17000000 10000000

759675 =3 x5 x HxT7x 1447 x 1

oooo
2P 4+ 1 =105(9724n + 7235)

goooooboolesb0ooboOoboOo0oOoOOoobDOoOobOOoUOobOOobOOo0oOOoOoDOoODOO
good

Q=13798430000
P = 510510n + 379843

2P + 1 =2(510510n + 379843) + 1 = 10210201 + 759686 + 1 = 1021020n + 759687

0000010210200 20 2003,5,7,11,13,17000000 10000000

759687 = 3 x 253229 x 1

oooo
2P + 1 = 3(340340n + 253229)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=13798490000
P = 5105100 + 379849

2P 4+ 1 =2(510510n + 379849) + 1 = 10210201 + 759698 + 1 = 10210201 + 759699

0000010210200 20 2003,5,7,11,13,17000000 10000000

759699 =3 x 3 x 3 x3x8 x 113 x 1

oooo
2P + 1 = 3(340340n + 253233)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=3798530000
P = 510510n + 379853

2P 4+ 1 =2(510510n + 379853) + 1 = 10210201 + 759706 + 1 = 1021020n + 759707

286



0000010210200 20 2003,5,7,11,13,17000000 10000000

759707 = 13 x 58439 x 1

oooOo
2P + 1 = 13(78540n + 58439)

o0o0obO0oobO13oooooobooobobooobooobOo0obooboboooobOoobOoo
good

Q=379859 0000
P = 5105100 + 379859

2P + 1 = 2(510510n + 379859) 4 1 = 10210201 + 759718 + 1 = 10210201 + 759719
0000010210200 20 2003,5,7,11,13,17000000 1000000

759719 = 759719 x 1

o000 10210200 0000000000000

2P 4+ 1 = 510510m + 249209

gboboobogobooboboobboobbooobuoonooboon

Q=1379810000
P = 510510n + 379861

2P + 1 = 2(510510n + 379861) 4 1 = 10210201 + 759722 + 1 = 10210201 + 759723
0000010210200 20 2003,5,7,11,13,17000000 10000000

759723 = 3 x 157 x 1613 x 1

oooo
2P + 1 = 3(340340n + 253241)

oooooooo3sboooooooooboooooOoboobooDboobbOODoOOoDbboOoDboO
goo

Q=3798670000
P = 510510n + 379867

2P 4+ 1 =2(510510n + 379867) + 1 = 1021020n + 759734 + 1 = 10210201 + 759735

0000010210200 20 2003,5,7,11,13,17000000 10000000

759735 = 3 x 3 x 5 x 16883 x 1

oooo
2P + 1 = 15(68068n + 50649)

287



obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=13798710000
P = 510510n + 379871

2P + 1 = 2(510510n + 379871) 4 1 = 10210201 4 759742 + 1 = 10210201 + 759743
0000010210200 20 2003,5,7,11,13,17000000 1000000

759743 =59 x 79 x 163 x 1

o000 102102000000000000000

2P +1 = 510510m + 249233

gbooboobooobooboboobboobboooboooboon

Q=2379877 0000
P = 5105100 + 379877

2P 4+ 1 =2(510510n + 379877) + 1 = 1021020n + 759754 + 1 = 1021020n + 759755

0000010210200 20 2003,5,7,11,13,17000000 10000000

759755 =5 x 47 x 53 x 61 x 1

oooo
2P + 1 = 5(204204n + 151951)

gboobobooosOoboboboooboobobooobobOobobDobDoboboobOobDOobDoo
goo

Q=379879 0000
P = 510510n + 379879

2P 4+ 1 =2(510510n + 379879) + 1 = 10210201 + 759758 + 1 = 10210201 + 759759

0000010210200 20 2003,5,7,11,13,17000000 10000000

759759 =3 x 7T x 11 x 11 x 13 x23 x1

0ooo
2P + 1 = 3003(340n + 253)

O00o0bO0o0oDb3030000Db00000000b00o0bO0obObOOobOU0UODDbDOoODDbOoODbDOO
googn

Q=1379889 0000
P = 5105100 + 379889

2P 4+ 1 =2(510510n + 379889) + 1 = 1021020n + 759778 + 1 = 1021020n + 759779

288



0000010210200 20 2003,5,7,11,13,17000000 1000000

759779 = 31 x 24509 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 249269

goboobooobooboboobboobbooboooboon

Q=3798910000
P = 510510n + 379891

2P + 1 = 2(510510n + 379891) 4 1 = 10210201 + 759782 + 1 = 10210201 + 759783
0000010210200 20 2003,5,7,11,13,17000000 10000000

759783 = 3 x 463 x 547 x 1

oooo
2P + 1 = 3(340340n + 253261)

obooboooo3oboboboooooboboooOoboboboobDobooobOobOoooo
goo

Q=1379901 0000
P = 510510n + 379901

2P + 1 = 2(510510n + 379901) 4+ 1 = 10210201 4+ 759802 + 1 = 10210201 + 759803
0000010210200 20 2003,5,7,11,13,17000000 10000000

759803 = 11 x 69073 x 1

oooo
2P + 1 = 11(92820n + 69073)

goooooboonooooooobOoboooooboooOoDOoDOooDOobDOobOooboOooboo
good

Q=3799030000
P = 510510n + 379903

2P 4+ 1 =2(510510n + 379903) + 1 = 10210201 + 759806 + 1 = 1021020n + 759807

0000010210200 20 2003,5,7,11,13,17000000 10000000

759807 =3 x 3 x 3 x 107 x 263 x 1

oooo
2P + 1 = 3(340340n + 253269)

289



go0oooooOo300boo0ooU0oOoU0ooU0bDOoUDOOoUoDOoUbObOUDOOobDOUDoOO
goo

Q=2379909 0000
P = 510510 + 379909

2P 4+ 1 =2(510510n + 379909) + 1 = 10210201 + 759818 + 1 = 1021020n + 759819
obooo00o10210200 20 2003,5,7,11,13,17000000 10000000

759819 = 3 x 253273 x 1

good
2P + 1 = 3(340340n + 253273)

o00b00O0o03000000000000bO0oOD0oO0b00obOO0oDOOoDODOoOOoOobOoDbDOoDOn
goo

Q=13799130000
P = 510510n + 379913

2P +1 = 2(510510n 4 379913) + 1 = 1021020n + 759826 + 1 = 1021020n + 759827
0000010210200 20 2003,5,7,11,13,17000000 1000000

759827 = 659 x 1153 x 1

o000 102102000000000000000

2P 4+ 1 = 510510m + 249317

gboobgobogoobogbooboobbooboooboooboon

Q=13799190000
P = 5105100 + 379919

2P + 1 = 2(510510n + 379919) + 1 = 10210201 + 759838 + 1 = 10210201 + 759839
0000010210200 20 2003,5,7,11,13,17000000 1000000
759839 = 109 x 6971 x 1
0000 10210200000000000000
2P + 1 = 510510m + 249329

gbobogobooobooboboobboobbooobuooooboon

Q=13799210000
P = 510510n + 379921

2P 4+ 1 =2(510510n + 379921) + 1 = 1021020n + 759842 + 1 = 10210201 + 759843

290



0000010210200 20 2003,5,7,11,13,17000000 10000000

759843 =3 x 3 X 7T x 7 x 1723 x 1

oooo
2P + 1 = 21(48620n + 36183)

oboobooobo21000ob0bo0ob00oobobooobooo0b0o0obooboboooobOoobOoo
good

Q=1379927 0000
P = 5105100 -+ 379927

2P + 1 = 2(510510n + 379927) + 1 = 10210201 + 759854 + 1 = 10210201 + 759855
0000010210200 20 2003,5,7,11,13,17000000 10000000

759855 =3 x 5 x 179 x 283 x 1

oooo
2P + 1 = 15(68068n + 50657)

goooooboOobhoobooooobOobooooUooooooDOobDOoOoDOobDOoboooboOooo
good

Q=13799310000
P = 510510n + 379931

2P 4+ 1 =2(510510n + 379931) + 1 = 10210201 + 759862 + 1 = 10210201 + 759863
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

759863 = 13 x 58451 x 1

oooo
2P 4 1 = 13(78540n + 58451)

oboobOooobooooooooooboboooboooboobooboboooobOoobOoo
googd

Q=3799370000
P = 510510n + 379937

2P 4+ 1 =2(510510n + 379937) + 1 = 1021020n + 759874 + 1 = 1021020n + 759875

0000010210200 20 2003,5,7,11,13,17000000 10000000

759875 =5 x5 x5 x 6079 x 1

oooo
2P + 1 = 5(204204n + 151975)

291



gbobobooosOobobobooobooboboboobobOobobDobDoboboOobOobOoboOoon
goo

Q=13799430000
P = 510510n + 379943

2P + 1 = 2(510510n + 379943) + 1 = 10210201 4 759886 + 1 = 10210201 + 759887
0000010210200 20 2003,5,7,11,13,17000000 1000000

759887 = 29 x 26203 x 1

o000 102102000000000000000

2P +1 = 510510m + 249377

gbooboobooobooboboobboobboooboooboon

Q=1379949000 0
P = 510510n + 379949

2P 4+ 1 =2(510510n + 379949) + 1 = 10210201 + 759898 + 1 = 10210201 + 759899

0000010210200 20 2003,5,7,11,13,17000000 10000000

759899 = 7 x 108557 x 1

oooo
2P + 1 = 7(145860n + 108557)

goooooogvyoUooo0oooUobOoUoOOoU0bDOU0UDOOoUDbOoUbDObOUODOOoDbDOUDOO
goo

Q=23799570000
P = 510510n + 379957

2P 4+ 1 =2(510510n + 379957) + 1 = 1021020n + 759914 + 1 = 10210201 + 759915

0000010210200 20 2003,5,7,11,13,17000000 10000000

759915 =3 x3x 3 xHx13 x433 x 1

0ooo
2P + 1 = 195(5236n + 3897)

o00ob00obOo019% 000000000000 booO0oo0oO00oobO0obOobOoDOoDOobDOon
good

Q=13799610000
P = 510510n + 379961

2P 4+ 1 =2(510510n + 379961) + 1 = 10210201 + 759922 + 1 = 10210201 + 759923

292



0000010210200 20 2003,5,7,11,13,17000000 1000000

759923 = 759923 x 1

oooo 10210200 000000000000

2P + 1 = 510510m + 249413

gboobgobogobooboboobboobbooobooooboon

Q=3799630000
P = 510510n + 379963

2P + 1 = 2(510510n + 379963) + 1 = 10210201 + 759926 + 1 = 10210201 + 759927
0000010210200 20 2003,5,7,11,13,17000000 10000000

759927 = 3 x 7 x 36187 x 1

oooo
2P + 1 = 21(48620n + 36187)

gbooboooobo21o0o0oobo0oooooboooboobo0oboobobnooobOooDbOoo
goog

Q=2379969 0000
P = 510510n + 379969

2P + 1 = 2(510510n + 379969) + 1 = 10210201 + 759938 + 1 = 10210201 4 759939
0000010210200 20 2003,5,7,11,13,17000000 10000000

759939 = 3 x 43 x 43 x 137 x 1

oooOo
2P + 1 = 3(340340n + 253313)

oooooooob3sooooooboboooooooboooooooDoobobooooobboBbOoOo
ooo

Q=379979 0000
P = 510510n + 379979

2P 4+ 1 =2(510510n + 379979) + 1 = 10210201 + 759958 + 1 = 10210201 + 759959

0000010210200 20 2003,5,7,11,13,17000000 1000000

759959 = 759959 x 1

OO000 10210200 000000000000

2P 4+ 1 = 510510m + 249449

293



gboboobogobogoboboobboobooobooooboon

Q=379987 0000
P = 510510n + 379987

2P + 1 =2(510510n 4 379987) + 1 = 1021020n + 759974 + 1 = 1021020n + 759975

0000010210200 20 2003,5,7,11,13,17000000 10000000

759975 =3 x 5 x 5 x 10133 x 1

oooo
2P + 1 = 15(68068n + 50665)

gooooobooboobooooobobooooobooooDoobDOooDOobDOoboboboOooboo
good

Q=3799910000
P = 510510n + 379991

2P + 1 =2(510510n + 379991) + 1 = 10210201 + 759982 + 1 = 10210201 + 759983

0000010210200 20 2003,5,7,11,13,17000000 10000000

759983 =7 x 151 x 719 x 1

oooo
2P + 1 = 7(145860n + 108569)

gOooooooOovyoUooOOoO0OOoO0OOoO0OO0DOO0DODO0OO0DDOOO0DDOOUODOODOOUODOOO
goo

Q=23799930000
P = 510510 + 379993

2P 4+ 1 =2(510510n + 379993) + 1 = 10210201 + 759986 + 1 = 1021020n + 759987

0000010210200 20 2003,5,7,11,13,17000000 10000000

759987 = 3 x 3 x 84443 x 1

oooo
2P + 1 = 3(340340n + 253329)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=379997 0000
P = 510510n + 379997

2P 4+ 1 =2(510510n + 379997) + 1 = 10210201 + 759994 + 1 = 10210201 + 759995

294



0000010210200 20 2003,5,7,11,13,17000000 10000000

759995 = 5 x 97 x 1567 x 1

oooo
2P + 1 = 5(204204n + 151999)

ooobOoobooos0b0b0obOOoO0b0o0b0ObDOobOUOoObO0ObUObDOobDOobObOObOobDOobDOoo
goo

Q=379999 0000
P = 510510n + 379999

2P + 1 = 2(510510n + 379999) + 1 = 10210201 4 759998 + 1 = 10210201 4 759999
0000010210200 20 2003,5,7,11,13,17000000 10000000

759999 = 3 x 61 x 4153 x 1

oooo
2P + 1 = 3(340340n + 253333)

000000003 000000000000DO000O0000DO0ODOO0DOO0ODO0OO0ODOODOODODn
goo

Q=3800110000
P = 510510n + 380011

2P + 1 = 2(510510n + 380011) + 1 = 1021020n + 760022 + 1 = 1021020n + 760023
0000010210200 20 2003,5,7,11,13,17000000 10000000

760023 =3 x3 x3x3x11x83x1

0ooo
2P + 1 = 33(30940n + 23031)

go0odpoOooboOo33booboo0ooobo0oboooUoooooDoOobDUooDUobDOobobooboOooog
goodg

Q=3800210000
P = 510510n + 380021

2P 4+ 1 =2(510510n + 380021) + 1 = 10210201 + 760042 + 1 = 10210201 + 760043

0000010210200 20 2003,5,7,11,13,17000000 1000000

760043 = 760043 x 1

oooo 10210200 000000000000

2P 4+ 1 =510510m + 249533

295



gboboobogobogoboboobboobooobooooboon

Q=380027 0000
P = 5105100 + 380027

2P + 1 =2(510510n 4 380027) + 1 = 1021020n + 760054 + 1 = 1021020n + 760055

0000010210200 20 2003,5,7,11,13,17000000 10000000

760055 =5 x 71 x 2141 x 1

oooo
2P + 1 = 5(204204n + 152011)

gooooooboOosOoUOoboOoOoboOoOobOOo0bObOO0bO0oDbDOoOoDOOobDbOODOOoDbDbOUODOO
goo

Q=3800330000
P = 510510n + 380033

2P 4+ 1 =2(510510n + 380033) + 1 = 10210201 + 760066 + 1 = 1021020n + 760067

0000010210200 20 2003,5,7,11,13,17000000 10000000

760067 =7 x 11 x 9871 x 1

oooo
2P + 1 = 77(13260n + 9871)

goodoOoogywoOoOooO0oOoOobOO0oOOoOooU0ooO0ooooOOoboDOooDoOooboDOobooooooog
good

Q=3800410000
P = 510510n + 380041

2P 4+ 1 =2(510510n + 380041) + 1 = 10210201 + 760082 + 1 = 10210201 + 760083

0000010210200 20 2003,5,7,11,13,17000000 10000000

760083 = 3 x 253361 x 1

oooo
2P + 1 = 3(340340n + 253361)

oooooooob3sooooooboobooooooobooooooobooOobOobDooooobbBbOoOn
ooo

Q=3800470000
P = 510510n + 380047

2P 4+ 1 =2(510510n + 380047) + 1 = 1021020n + 760094 + 1 = 10210201 + 760095

296



0000010210200 20 2003,5,7,11,13,17000000 10000000

760095 =3 x 3 xH X T7Tx19x127x 1

oooo
2P 4+ 1 =105(9724n + 7239)

gboobobOobolesobooboooooboobobobooboobooobOobUobUobDooDOobooo
googd

Q =3800530000
P = 510510n + 380053

2P + 1 =2(510510n + 380053) + 1 = 1021020n + 760106 + 1 = 1021020n + 760107

0000010210200 20 2003,5,7,11,13,17000000 10000000

760107 = 3 x 253369 x 1

oooo
2P + 1 = 3(340340n + 253369)

gooooooo3soooooooooboooo0bo0obooDbOoUobbOUDoOobDboUODboO
goo

297



